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main(String[] args) IOException {

ServerSocket serversocket = ServerSocket( )
Socket so= serversocket.accept()
InputStream is = so.getInputStream()

[] bytes = [ ]

read = is.read(bytes)
System. .println( String(bytes read))

OutputStream os = so.getOutputStream()

os.write( .getBytes())

so.close()
serversocket.close()
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main(String[] args) IOException

Socket socket = Socket( )
OutputStream os = socket.getOutputStream()

os.write( .getBytes())

InputStream is = socket.getInputStream()

[] bytes = [ ]

read = is.read(bytes)
System. .println( String(bytes read))
socket.close()
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main(String[] args) IOException {
Random r = Random()
ServerSocket serverSocket = ServerSocket( )

System. .println(

)
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Socket socket = serverSocket.accept()
Thread( Runnable() {
@Override

run() {
{

File file = File(
(!file.exists()){
file.mkdirs()
}
InputStream is = socket.getInputStream()
FileOutputStream fos =

FileOutputStream(

+System.currentTimeMilLis()+r.nextInt( )+
[] bs = [ ]
S
((s=is.read(bs))!=-1){
fos.write(bs S)

}
OutputStream os = socket.getOutputStream()

os.write( .getBytes())

fos.close()

socket.close()
(IOException e){

System. .println(e)




}
}).start()

main(String[] args) IOException {
Socket socket = Socket( )

FileInputStream fis = FileInputStream(

[] bytes = [ ]
C
OutputStream os = socket.getOutputStream()
((c = fis.read(bytes))!=-1){
os.write(bytes c)

}
socket.shutdownOutput()

InputStream is = socket.getInputStream()
[] bs = [ ]
read = is.read(bs)
System. .println( String(bs read))
os.close()
fis.close()
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main(String[] args) IOException {
ServerSocket server = ServerSocket( )
( )
Socket socket = server.accept()
Thread(()->{
FileInputStream fis =

OutputStream os =
{
InputStream is = socket.getInputStream()
BufferedReader br = BufferedReader(
InputStreamReader(is))
String s = br.readlLine()
String[] arr = s.split(




String s1 = arr[1].substring(1)
System. .println(sl)
fis = FileInputStream(sl)
os = socket.getOutputStream()
os.write( .getBytes())
os.write(
.getBytes())
os.write( .getBytes())
[] bs = [ ]
C
((c=fis.read(bs))!=-1){
os.write(bs c)
}
(IOException e){
e.printStackTrace()
{
(fis!= ){
{
fis.close()
} (IOException e) {
e.printStackTrace()

}

CHE )
{

os.close()
(IOException e) {
e.printStackTrace()

}

}
}).start()
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